
GCF of 30 and 40 = GCF of 36 and 48 = 

GCF of 45 and 30 = GCF of 28 and 49 = 

36 and 482)

28 and 494)

30 and 40                                                  1)

3) 45 and 30

© https://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.comhttps://www.k8worksheets.com

https://whttps://whttps://whttps://www.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.comww.k8worksheets.com

Find the greatest common factor of each pair of numerals.

Greatest Common Factor
WS #2

Numbers 26 to 50


